

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 4/26/2025 10:51:14 AM

			General De	etails				
Parcel ID:	510-0020	-02392						
Document:	Torrens -	290621						
Document Date:	02/06/200)2						
		Le	gal Descripti	on Details				
Plat Name:	PORTAC	θE						
Secti	on	Township	I	Range	L	ot	Block	
15		66		17		-	-	
Description:	SAID TR	ACT THENCE E AL	W1/4 OF SE1/4 LYING SELY OF OLD COUNTY HWY #24 DESC AS BEG AT SW CORNER OF NCE E ALONG S LINE OF SW1/4 OF SE1/4 509 FT THENCE N TO S LINE OF OLD COUNTY E WLY AND SLY ALONG ROAD TO PT OF BEG					
			Taxpayer D	etails				
Taxpayer Name	BAK PAL	BAK PAUL MICHAEL & DONNA						
and Address:	6504 CO	RD 422						
	ORR MN	55771						
			Ourner De	taila				
Owner Name		IL MICHAEL & DON	Owner De	Idlis				
	DARFAC		able 2025 Ta	v Summarv				
	0005			x Summary	¢4,400.	20		
	2025	- Net Tax	ax			\$1,489.00		
	2025	- Special Assessme	cial Assessments		\$85.	\$85.00		
	202	5 - Total Tax &	Total Tax & Special Assessments			00		
			t Tax Due (as		5)			
		Curren	•		<i>יו</i> י			
	Due May 15		Due Octo	ber 15		Total Due		
2025 - 1st Half	Tax \$78	37.00 2025 - 2	nd Half Tax	\$78	7.00 2025	- 1st Half Tax Due	\$787.00	
2025 - 1st Half	Tax Paid S	30.00 2025 - 2	00 2025 - 2nd Half Tax Paid		0.00 2025	2025 - 2nd Half Tax Due		
2025 - 1st Half	Due \$78	37.00 2025 - 2	2025 - 2nd Half Due \$787.00			2025 - Total Due \$1,574.00		
			Parcel De	tails				
Property Addres	s: 6504 CO	RD 422, ORR MN						
School District:	2142							
Tax Increment D	istrict: -							
Property/Homes	teader: BAK, PA	JL						
		Assessme	nt Details (20)25 Payable 2	2026)			
			Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
Class Code (Legend)		EMV	1			A A		
(Legend) 201		EMV \$23,400	\$201,700	\$225,100	\$0 \$0	\$0 \$0	-	



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 4/26/2025 10:51:14 AM

			Land Det	alls					
Deeded Acres:	3.52								
Waterfront:	-								
Water Front Feet:	0.00								
Water Code & Desc:	W - DRILLED WE	LL							
Gas Code & Desc:	-								
Sewer Code & Desc:	S - ON-SITE SAN	ITARY SYST	EM						
Lot Width:	0.00								
Lot Depth:	0.00								
The dimensions shown are https://apps.stlouiscountym					e found at ions, please email PropertyT	ax@stlouiscountymn.gov.			
				Is (RESIDEN					
Improvement Type	Year Built	Main Flo	oor Ft ² G	Fross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	0	1,3	78	1,378	-	RAM - RAMBL/RNCH			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	1	6	6	SHALLOW FOU	-			
BAS	1	24	16	384	SHALLOW FOU	-			
BAS	1	26	38	988	SHALLOW FOU				
OP	1	8	26	208	POST ON GF				
SP	1	10	20 16	200 160	POST ON G				
Bath Count	Bedroom Cou		Room Co		Fireplace Count	HVAC			
			KUUIII CU	unt	•	-			
1.0 BATH	3 BEDROOM		-		-	C&AIR_COND, GAS			
		Improver	nent 2 Deta	ails (28X32 D	G)				
Improvement Type	Year Built	Main Flo	oor Ft ² G	Fross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	1987	89	6	896	-	DETACHED			
Segment	Story	Width Length		Area	Foundat	ion			
BAS	1	28 32		896	FLOATING	SLAB			
LT	1	8	32	256	POST ON GROUND				
		Improver	nent 3 Deta	ails (50X60 P	В)				
Improvement Type	Year Built	Main Flo	oor Ft ² G	Fross Area Ft ²	Basement Finish	Style Code & Desc.			
POLE BUILDING	0	2,6	00	2,600	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	50	52	2,600	FLOATING	SLAB			
LT	1	12	52	624	POST ON GF	ROUND			
		Improver	nent 4 Deta	ails (22X14 D	G)				
		-		Bross Area Ft ²	Basement Finish	Style Code & Desc.			
Improvement Type	Year Built					-			
Improvement Type	Year Built 2019			308	-	DETACHED			
GARAGE	2019	30	8	308	- Foundat	DETACHED			
GARAGE Segment	2019 Story	30 Width	8 Length	Area	- Foundat	ion			
GARAGE Segment BAS	2019 Story 1	30 Width 22	8 Length 14	Area 308	POST ON GF	ion ROUND			
GARAGE Segment	2019 Story	30 Width 22 9	8 Length 14 22	Area 308 198	POST ON GF POST ON GF	ion ROUND			
GARAGE Segment BAS LT	2019 Story 1 1	30 Width 22 9 Improver	8 Length 14 22 ment 5 Deta	Area 308 198 ails (She she	POST ON GF POST ON GF d)	ion ROUND ROUND			
GARAGE Segment BAS LT Improvement Type	2019 Story 1 1 Year Built	30 Width 22 9 Improver Main Flo	8 Length 14 22 ment 5 Deta por Ft ²	Area 308 198 ails (She she Gross Area Ft ²	POST ON GF POST ON GF	ion ROUND			
GARAGE Segment BAS LT Improvement Type STORAGE BUILDING	2019 Story 1 1 1 Year Built 2009	30 Width 22 9 Improver Main Flo	8 Length 14 22 ment 5 Deta por Ft ² G	Area 308 198 ails (She she bross Area Ft ² 80	POST ON GF POST ON GF d) Basement Finish -	ion ROUND ROUND Style Code & Desc.			
GARAGE Segment BAS LT Improvement Type	2019 Story 1 1 Year Built	30 Width 22 9 Improver Main Flo	8 Length 14 22 ment 5 Deta por Ft ²	Area 308 198 ails (She she Gross Area Ft ²	POST ON GF POST ON GF d)	ion ROUND ROUND Style Code & Desc. - ion			





St. Louis County, Minnesota

		Improvem	ent 6 Details (G	reenhouse)				
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² Base	ment Finish	Styl	e Code & Desc.	
	2020	80)	80	-			
Segmer	nt Story	y Width	Length	Area	Foundation			
BAS	0	8	8 10 80		FOUNDATION			
		Improven	nent 7 Details (Noodshed)				
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² Base	ment Finish	Styl	e Code & Desc.	
STORAGE BUILDIN	G 2020	16	0 ·	60	-		-	
Segmer	-	•	Length	Area	Foundation			
BAS	1	8	20	160	POST ON (GROUND		
		Improv	vement 8 Detail	s (3x10)				
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² Base	sement Finish St		e Code & Desc.	
STORAGE BUILDIN		30		30	-		-	
Segmer	-		Width Length Area		Foundation			
BAS	1	3	10	30	POST ON GROU			
	:	Sales Reported	to the St. Loui	s County Auditor				
No Sales informat	ion reported.							
		As	ssessment Hist	ory				
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
	201	\$23,400	\$192,600	\$216,000	\$0	\$0	-	
2024 Payable 2025	Total	\$23,400	\$192,600	\$216,000	\$0	\$0	1,889.00	
	201	\$22,900	\$182,800	\$205,700	\$0	\$0	-	
2023 Payable 2024	Total	\$22,900	\$182,800	\$205,700	\$0	\$0	1,870.00	
	201	\$21,800	\$152,600	\$174,400	\$0	\$0	-	
2022 Payable 2023	Total	\$21,800	\$152,600	\$174,400	\$0	\$0	1,529.00	
		* • • • • • •	¢404.000	¢450.000	\$0	\$0	-	
	201	\$18,900	\$131,900	\$150,800	Ф О	ψυ		
2021 Payable 2022	201 Total	\$18,900 \$18,900	\$131,900 \$131,900	\$150,800	\$0 \$0	\$0	1,271.00	
2021 Payable 2022	-	\$18,900		\$150,800	• -		1,271.00	
2021 Payable 2022	-	\$18,900	\$131,900	\$150,800	• -	\$0 Iding		
	Total	\$18,900 T	\$131,900 Tax Detail Histo Total Tax & Special	\$150,800 ry	\$0 Taxable Bui	\$0 Iding		
Tax Year	Total	\$18,900 T Special Assessments	\$131,900 Fax Detail Histo Total Tax & Special Assessments	\$150,800 ry Taxable Land MV	\$0 Taxable Bui MV	\$0 Iding T 8	otal Taxable MV	



PROPERTY DETAILS REPORT





Date of Report: 4/26/2025 10:51:14 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.